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TEST BOOKLET-2013

(Them-gitaert-20¢3)

Exam. Code ONETS Test Booklet No. :
e & e —gieaent | ¢
(This Test Booklet contains UNATTACHED OMR Answer-sheet inside.) TIME : 2 Hours 15 Minutes
(38 v -gfeaent & et STEATHA . UH. TR, IW-Uh TN G §) g : 2 g 15 fime
Subject No. of Questions LGS Tyt Y G
General Studies 100 f e coga o p ey 100

NOTE : Please read the “Instructions to Candidates” and then fill up the following accordingly.

(Fre : ““wfvenfeia & ford v’ ¥ o A Ik AR A W) 1)

1. Candidate’s Name:
(rrerreft w6t A1)

2. Candidate’s Full Signature:
(oriveaeft = I FEATER)

3. Roll No. (Fill in digits and words as shown in the Example) :

et 4. (Serever (Fdy v 2) # fewame 13 g e1uA e TXa Y 3Tkl auT weal § o)

4. Exam.Centre:
(riem s
5. Exam. Centre Code:

(TrieT s BT RIS

INSTRUCTIONS TO CANDIDATES

(wdierrfera o forar fdom)
(A) General (| :
1. This Booklet contains 32 pages and one unattached OMR Answer Sheet kept inside it. As soon as the booklet is distributed,

Examinees are directed to confirm the number of pages, legibility of printing etc. They must also confirm that the Bar Code is printed
on the OMR Answer Sheet. No complain will be entertained for exchange of booklet later than 10 minutes after distribution.

T8 TRreA GfcreT H Uk STHOTH S1.UH. 3TR. I U o ST 32 I3 8 | S &t o1 yfedien ferafe <t wft & 391 e ek wifveeff a1 =nfed for o8 3wk
T3 <Pl T TR BT Sl [T S <Rl T Site o of | ek wdiereff &bt arg oft gffeer o o =nfed o ol um. e SmwE W IR B R |
T iRt 3 s o aw e oh oTe 38 STae <ht RS fuTenTrd Tt e i St |

2. Roll No. should be written in digits as well as in words in the appropriate Box provided at serial-3 above on the upper portion of the
front cover page of this Test Booklet as per the example given below :

Tt YfETeT o T I83 o HU 9T o ShH 3 T S T Hrafed ate § i e T 3Tt o STgHR Uet T ol 37k aor vreal H fore R

Example (3818W): Roll No. (/@) : 179682 [ 1 | 7 | 9 5 | 8 2
ol s N s|Ee|T
N | E | I Il w
E|lv | N| x| ]| o
E | E H
N T

3.The candidate will first open GREEN Colour Seal only and read the complete instructions carefully as also see the instructions on
the back side and fill the details in the Question Paper and OMR Answer Sheet. Candidates will next open BLUE Colour Seal when
asked to do so. Before answering please ensure that Question Booklet has 32 pages and 100 questions. Immediately report on error
and ask for change.

T T kA g T Y Tt @iet 71l TS FEanett i o7 Ty & ifom se § < 1 gEenetl i e | U | T 0 S 371 TH. . I
T H A TR SRR AT gee o | 3e | e e S, asft wdaef e s e @iel| Sw o & 1@ ae giafeea w T s
gfecerT & 32 53 37 100 T 8 | Tt U S W T ST STTehfid ol SR 3W sea of |

Continued on Page No. 2
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4.

10.

11.

In the Test Booklet, there are 100 questions. Thus 100 questions in all are to be answered.

Tie gfEdent § Fa 100 T & | 36 TR Fd 100 T 1 ST TR |

Each Question is of 1 mark, which will be awarded for the correct answer. 0.5 mark will be deducted for
each wrong answer. More than one Answer indicated against a Question will be declared as incorrect
Answer.

eIk U9 o foTu 1 37k it & g wet 3o oh fordt fean ST | Iedieh 7ot ST o 0.5 376k shie foran SR |
Ife Uk T3 & foru wes @ 3rferen I fod S @ 38 39 w9 o o Tt SO HE S |

If there is any difference between English version and the corresponding translated version in Hindi of
any question, then the English version will be treated as authentic.

Ife s § gisa foret w7 it sae ot orgame & s fumran &t @t st & gfsd s & v g

Use of Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget eg. Mobile Phone
etc. is not allowed.

FeTpeiel /TATESE /A Sect /TTHUT /e AT el Teh o Soiareli-eh SUhTUT QT HITTSH ®iF 3T1fE 1
Iy afsla R |

Any candidate attempting or using unfair means or copying or detaching any page of question booklet
or marking the answer on the question booklet will be expelled and his candidature will be rejected.

Ffg ehrg qlrameff Tohat FTd, TAd qlieh STUAT, THET-TfEdehT 1 53 HISd AT 39 W I foTed Ir S
a1 38 ghen ¥ et ot foan S 3t sueh 3efiear) & =t & st |

Candidates must also follow the instructions, which may be given by the Centre Superintendent from
time to time.

e sheg o hesreieresh g0 aua-gwd W o3 T s s weft wdenfiet grn urer s g |

ADDITIONAL BOOKLET/ANSWER SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES
OTHER THAN THAT MENTIONED IN 1 ABOVE.

w0 1 # aftfa wle-gfedert Td 3T uaE & AT ST 8 RIS 317 Wa-giedent 3T 3w wae forelt oft
ufefeurfa # &1 fozm smim |

Candidates on completion of examination handover the OMR answer sheet to the invigilator. The invigilator
shall separate the two sheets and handover the duplicate copy (orange) which is mandatory to preserve
till counseling is over. Candidates are allowed to carry the question booklet allotted to them.

TeT & QU T W IEHIGER 371U, AR, I Yfedert e o1 div & | frleres <A1 gfedenet i stem
T 3R @t Ui (ATt et w3, S HEufent % @ g de guid Teen Afer ® | ufiead
1 3¢ ATeIed T YfEdent of ST 1 SIAMT ] |

Continued on Page No. 3
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(B)
1.

Process for Filling up OMR Answer-Sheet (211.TH. 3T, 3T U=leh ht WA <hl UfhaT) :

ANSWER SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER.
I U 3T1.UH. TN, YR 1 2 8 Hreged T g et ST 2 |
Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Answer

Sheet in CAPITAL LETTERS. The Digits should be written in appropriate boxes in Blue/Black ball point
pen and the circles corresponding to the digits be darkened with Blue/Black ball point pen only.

IR T o e Tt W At Tr/aRied s 1 hie /wiel Jiereht st T ofE il SW-Th W
FHiYea de ¥ W | Ffdee ferk @l 8 37 el /oh1elt a1t @ise shom & 9 3T Fraf-aq Mol i s
At /el It WITge herd 8 31 |

Example: If Roll No. is 179682 and the Question Booklet No. is 2439, then
Iareor: I YA TR 179682 8, w wlier gfeqen g 2439 7,
11719682 214]3]09
O OO FO) KO O] FOIRE)
@000 |® 02 Ol®
ECAIONONCHER IO G @0
@ O®elele @0 @ >
G660 |G|® Gl ®|6G
CRECAICIL JICHIG ®lG 6©|®
0O 0|0|® OO @O
®eIe e|e|®
CRION OO O) O IONOA
0000|000 ©®© 0|0

On completion of examination handover the answer sheet to the Invigilator. The Invigilator shall separate
the two sheets and handover the duplicate copy (orange) to you.

THT §H % TG I Uk hl SIS STeIet (YAETEsR) i ez St =nfe | safafsieret &1 fic ot tert e
gfTohe ST I 3TMUEhT AT =M1T. |
The questions are multiple choice type. Each question is provided with a number of choices of Answers,

out of which ONLY ONE is MOST APPROPRIATE. The candidate must darken the appropriate circle
provided in front of the question number, using Blue/Black ball point pen only.

T w78 - forehed JehR % R | Tedsh e o foru 33 3 forened 3ol B @ Shae Wk € waiioes 3uger @ | wemeff i
WY AT o Tk U fehed o T o raIf-erd et a1 Freft /hreft et wrse %o’ o € T 2 |

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question
no. 7 as shown below :

IaTE0T: I TN T 7 & ToIU forened ‘B EEt ST R, I U9 TEAT 7 % WA o T(-9d Ml ol A femmd
% SIAR THTR :-
Q.No.1 @& © O
Q.No.2 @ © ©

L J L d L J L d
L ]

L] [ ]

QNo.7 ® @ © © Continued on Page No. 32
(T8 . 32WE 1)
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1. Dueto rainfall this year, they had to water supply.
(A) scanty, provide (B) heavy, regulate
(C) regqular, clamp (D) sufficient, enforce

2. Totake aleap in the dark
(A) torun for life
(B) to be afraid
(C) todo atask secretly
(D) to do a hazardous thing without any idea of the result

3. Do not add fuel to the fire
(A) create problem (B) harass
(C) aggravate trouble (D) interfere

4. Aninstrument for viewing objects at a distance
(A) microscope (B) periscope (C) telescope (D) kaleidoscope

5. Story told to illustrate a moral or spiritual truth

(A) paradigm (B) parable (C) didactic (D) paragon
6. My father strained every nerve to enable me to get settled in life

(A) tried all tricks (B) worked very hard

(C) spentahuge amount (D) bribed several persons

7. Malice is a feeling that we should always avoid
(A) anger (B) ill-will (C) spite (D) cruelty

8. The opposite meaning of “implicate” is
(A) corrupt (B) accuse (C) exonerate (D) involve

Out of the four alternatives given below, select the one which best expresses the same
sentence.

9. She said to them, “Don’t make a noise”.
(A) She told them that don’t make a noise
(B) She told them not to make a noise
(C) She asked them not to make a noise
(D) She asked them that don’t make a noise

10. Getthe box broken
(A) Have the broken box (B) Break the box
(C) Getsomeone to break the box (D) They have broken the box
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20.
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(A) THEE (B) I (C) TmER® (D) TERH
frefeafad ot o 9 @ o9 7 2= vee &1 wg=nfag |
H++I+Y+H+TA+3
(A) S (B) gy (C) TPt (D) 3Tl
‘srfafe’ seed ITE R |
(A) A (B) id ©€) d (D) sfd
‘orentae’ TTec | TII R |
(A) o (B) AT (C) e (D) HEE
qTT ) Tl BIST Th1S 2
(A) X (B) avf (C) =M (D) &
0 U i 91 3 oyt e R 7
(A) A (B) UEH (C) m (D) d
‘I’ 188 o Tt farem vreq faekedi # @ g |
(A) 3EHA (B) Yad (C) 3TeHfd (D) W
“Teor Y TR ETa 1 wet 37 foenedi § € giHT |
(A) T (B) UceR © st s
(C) UeeR & Tehi Giwrmt (D) Toegi=afF
o o1 Shfer vree 2
(A) i (B) TR (C) Fafmt (D) A
{@IfRd ITeG1 o e WE oh 3fad foshed hl T |
picEECRIRI
(A) U hITh (B) 3AUTEH hih
(C) 3fereior w1k (D) ohdl hH
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21.

22.

23.

24,

25.

CIVICS

The number of nominated members in Rajya Sabha are

(A) 10 (B) 11 (C) 12 (D) 13

The meaning of Secularism is

(A) Suppression of all religious

(B) Separation of Religion from State
(C) Freedom of worship to minorities

(D) A system of political and social philosophy that does not favour any particular religion

Zero Hour refers to

(A) When proposals of the opposition are considered
(B) When matters of utmost importance are raised
(C) When Money Bill is introduced in Lok Sabha

(D) Interval between the morning and the evening sessions

Who is ex-officio Chairman of Rajya Sabha ?
(A) President (B) Prime Minister

(C) Vice President (D) Leader of Opposition

The Parliament of India consists of

(A) Lok Sabha and Rajya Sabha

(B) The President, Lok Sabha and Rajya Sabha

(C) The Prime Minister, Lok Sabha and Rajya Sabha
(D) Vice President, Lok Sabha and Rajya Sabha

-6-
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21.

22.

23.

24,

25.

ATTER I

TSI G hl THTfRd e &) gt fora 8 ?

(A) 10 (B) 11 (C) 12 (D) 13

o ferdiega okt T 31f B 7

(A) Tsft ot 1 Eme

(B) TS AN & o1 AT

(C) ICTHEIHI sl TSI ! TG

(D) TSIHITeh 37T HTATTSTeR 31+ oht sxaree 1 forefl weh of o1 vet & o

I T o1 31 B

(A) I8 oud fager & Teara W fomst feran s

(B) 3Tcdd Hecaqul urHel W foram fomret 33rm a2
(C) & & fIeIh ol Tk 9T H AT ST &

(D) T 1 & T IH & T o A hl G0

TTH Q TT G911 T HIT BT 7
(A)  TerEst (B) THfd (C) 3Iu-TUfd (D) fomieft e swraan

YA H GECHHTH A B 7
(A) ek AT T TT T (B) Trseufd, wiieh BT 3R ST O

(C) TeIH T, STeh T 3T TS T (D) 3U-TsZUfd, Tk AT 3T [T T
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26. Who was the Chairman of the Constitution Drafting Committee ?
(A) Jawaharlal Nehru
(B) Sardar Patel
(C) Bhimrao Ambedkar

(D) M.AJdinnah

27. The Constitution of India came into force on
(A) 26 January 1947
(B) 26 January 1950
(C) 15 August 1947

(D) 15 August 1950

28. Who decides whether a bill is money bill or not ?
(A) President
(B) Prime Minister
(C) Speaker of Lok Sabha

(D) Finance Minister

29. The Panchayati Raj consists of
(A) 3tier System
(B) 2tier System
(C) A4tier System

(D) None of the above
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26. Gfgu™ o Yrey giufd & Tegeg g 9 ?

(A) ST A8%
(B) TER WA

(C) fima Tl
(D) .37 forem

27. T o1 e Afeicd | ohel 37T 7
(A) 26 SHad 1947
(B) 26 SHadl 1950
(C) 15 3TRd 1947

(D) 15 3T 1950

28. wls ¥ fageh o foeees @ a1 =21 | soen Folg A waT 2 7
(A) Tregafd
(B) el
(C) Ik O T 738
(D) T
29. Tl TS
(A) o wT s ?
(B) &I & FaEdn g

(C) TN EHT sTerer 2

(D) T8 @ IS oft 7
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30.

31.

32.

33.

34.

GEOGRAPHY

Which planet is called “Sister of Earth”?
(A) Mars

(B) Venus

(C) Mercury

(D) Pluto

The intersecting lines drawn on maps and globes are
(A) latitudes

(B) longitudes

(C) geographic grids

(D) None of the above

The Sahara Desert is located in
(A) Canada

(B) Africa

(C) Australia

(D) America

Lakshadweep Islands are
(A) volcanic islands

(B) coral islands

(C) deltaic islands

(D) offshore islands

Which one of the following rivers does not drain into the Arabian Sea ?
(A) Pennar

(B) Periyar

(C) Pamba

(D) Netravati

-10-
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30.

31.

32.

33.

34.

EyL
fora g 1 “gecft i oTe FHET TR 7
(A) =T
(B)
©)
(D) W

TR 3T TATS T A (AT TSI e hiF & 7
(A) &

(B) g

(C) smiferss fire

(D) ¥7H © s T

TErT T e fera ® 7
(A) ISt

(B) 3ThIHT

(C) tefera

(D) 3mmfER

AT TE fohd SRR F1U @ 7
(A) SeTaTEr S

(B) YaTel g9

(C) Searg™

(D) AL

Frefaftaa afeai 8 @ o @ 1) o 9P H gaEd TR w7
(A) U
(B) Uf@m
(C) W
(D) ~Terit

-11-
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35.

36.

37.

38.

Cultivation of coffee is confined to which of the following hills ?
(A) Siwalik

(B) Sahyadri

(C) Nilgiri

(D) Ananthagiri

The state which recorded the highest decadal (2001-2011) growth rate in literacy is

(A) Kerala
(B) Bihar
(C) Meghalaya

(D) Arunachal Pradesh

Moist deciduous forests are found in

(A) Saharsa and Purnia districts

(B) Patna and Nalanda districts

(C) Samastipur and Darbhanga districts

(D) Vaishali and Begusarai districts

Minerals produced in Bihar include
(A) limestone, quartzite and pyrite
(B) lignite, mica and limestone
(C) mica, gold and tin

(D) clay, iron ore and sand

-12-
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35.

36.

37.

38.

il il Tt e vetfeai | 9 forod wifta 2 7
(A) Toarfers
(B) weEIE
(C) afiit
(D) 3IHafR

fohe T2 3 |TeTT | Tated 918 2001-2011 FI faspra st gt i 2 7
(A)

(B) foER

(C) et

(D) TRUTEIA YT

T 9Tt SiTTet el U ST ® 7
(A) TELE AR et e
(B) YT IR ATeie furem

(C) THEITYL 3T G forett
(D) JeTTeft TR s ffet

T @ & 9 foer | Senfed @fe 7
(A) =T TR, FETESISE 371 UTSise
(B) TormTse, 31Weh TR [T Teer
(C) 19, AT AR faa

(D) Tredl, e st SR

13-
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39.

40.

41.

42.

43.

44,

45.

46.

ECONOMICS
Which of the following is a Millennium Development Goal ?
(A) developing a global partnership for development
(B) encouraging foreign direct investments
(C) developing transport and communication
(D) increasing industrial production

Human Development Index was created by
(A) Amartya Sen and Mahbub ul Haq

(B) Jeffrey Sachs and Joseph Stiglitz

(C) Simon Kuznets and Joseph Schumpeter
(D) P.C.Mahalonobis and Pranab Bardhan

One Rupee note and coins of all denominations are issued by
(A) Reserve Bank of India (B) Government of India
(C) Ministry of Finance (D) Commercial Banks

Green Revolution in India is also known as
(A) Food production revolution

(B) Irrigation and fertilizer revolution

(C) Seed, fertilizer and irrigation revolution
(D) Agro-industrial revolution

Which sector in India has benefitted least from globalization ?
(A) Mining Sector (B) Industrial Sector
(C) Agricultural Sector (D) Transport Sector

Which of the following belong to primary sector ?
(A) Agricultural Sector (B) Mining Sector
(C) Transport Sector (D) Industrial Sector

The Eleventh Five Year Plan was based upon the model prepared by

(A) C. Rangarajan (B) Pranav Mukherjee

(C) John W. Miller (D) Ashok Rudra

Target of achieving 100% literacy is incorporated in

(A) 9t Plan (B) 10t Plan (C) 11" Plan (D) 12" Plan
-14-
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39.

40.

41.

42.

43.

44,

45.

46.

arefoe

Y ¥ o geefes fasa dea 2 7

(A)  foremma o fore Sfeges arerert &1 fomkfaa g
(B) faresft weaet fawt st Wieafed s

(C) ufEE R =R &1 foremme e

(D) 3TreNfireh 3edted § g e

T forehTe gerehieh fohtreh ST ST T 7
(A)  ATEA TR TS 3A Th (B) SIH{ Bad TR SIO® TTfered
(C) TTEHA Fei-ied 3T ST I (D) .= TR T gure ag

Teh &9 hT AI1E 3R ) foraes forgsh g s fi S @ 7

(A) T ok 31 gfean (B) WA TN

(C) Toawme™ (D) TS S

T 4 gid wifd ! forg SIam @ SIS e ?

(A) T 3cdTeH Sifd (B) fo=s st @ wifa

(C) i<, @ 3R fi=s wifd (D) i 3Tenfires wifa

JTTeRLUT § T T S IET & Hd o AT §aTT & 7

(A) T & (B) f=firad (C) Hwad (D) UieE" &
= g 9 9 wruafies 898 sar? ?

(A) FiY e (B) & & (C) ufEees (D) 3fenfies &

e Gere T AT fohdeh S0 I foRd TR Hied W e @
(A) N IERH (B) YW @S  (C) WM gscy, fieR (D) 379k &5

form ST 8 100 SfdeTa drerar gTfeet ST e fRar TR 7
(A) 9T AT (B) 10FASHT  (C) 11a1ASAT (D) 12T FSHT

-15-
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47.

48.

49.

50.

51.

SCIENCE

A moving object on which no forces are acting will continue to move with constant

(A) impulse
(B) acceleration
(C) momentum

(D) all of the above

The source of all magnetism is
(A) tiny pieces of iron

(B) tiny domains of allied atoms
(C) ferromagnetic materials

(D) moving electric charge

An object at rest may have
(A) momentum

(B) speed

(C) velocity

(D) energy

The velocity of light was first measured by

(A) Galileo
(B) Newton
(C) Einstein
(D) Romer

Which of the following is a naturally occurring polymer ?

(A) Polyamide
(B) Composites
(C) Starch

(D) None of the above
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47.

48.

49.

50.

51.

LEEIE]
TS, <A B g T RIS 9 o1 JART 7 &1 al af Fa
(A) FE
(B)
(C) T
(D) T E T

Teff rerhcd FT T 2 |

(A) RS Bl Ihe

(B) EFSIY TRHTU[SI o Bl SHA
(C) HUHTHIeH amft

(D) forega st

TS 9o GO %G H 370 O IS Thal & 7
(A) i (dTHeH)

(B) id (¥dte)

(©) =

(D) i

TehTST ST AT YEedl SR ferg @tett 7
(A) Afafern

(B) A&

(C) s

(D) W

$TH T b1 T ®9 9 e ot sgee ¢ 7
(A) TiFTESE

(B) FHHISE

(€) wr

(D) TTHAFE A T

-17-
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52. Galileo was an ltalian astronomer who
(A) developed the telescope
(B) discovered four satellites of Jupiter
(C) discovered that movement of pendulum produces a regular time measurement

(D) all of the above

53. Which is not a characteristic of bases ?
(A) turnslitmusred
(B) reacts with acids to form salts
(C) tastes bitter

(D) produce hydroxide ions when added to water

54, _ anchorplantstothegroundand ___ are the site of the bulk of photosynthesis.
(A) roots; stomata
(B) shoots; leaves
(C) roots; leaves

(D) all the above

55. Which is the largest gland in the human body ?
(A) Pancreas
(B) Liver
(C) Thyroid

(D) Pituitary
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52. AT e sdqTere WmasTEt o e

(A) AEhIT o ITTash L fema

(B) NI 4 3T 1 Wil Tkt

(C) ¥& @IS fohat foh Ugem ol STTaTSTTR] Ueh TH=ifid T W1 31 IcuTeH ahic ©
(D) THHaH

53. 390 W $I9 € 98F (bases) Fl fowar =i R ?

(A) foaerg A8 S e

(B) Tfre & ary firctent taor st R

(C) “hedTEdIe

(D) U ST T ETESIFITEE ST ohT IcUTe BT 8

54,  Wuaimifddmedgeit Weis ThRI AT R EE B |
A S, W
(B) @,
(C) s,
(D) THHaH

55. T IR 1 Tl ST U F1 8 7
(A) TIEH
(B) fotar
(C) I=zs

(D) Toegedt
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MATHS
56. What is the largest number that divides 245 and 1029, leaving remainder 5 in each
case ?
(A) 15 (B) 16 < 9 (D) 5
57. A number is increased by 10% and then decreased by 10%, find the % increase or
decrease in the number

(A) 1% increase (B) 1% decrease (C) 10% increase (D) No change

58. If each side of a square is increased by 10% find the % increase in area
(A) 10% (B) 20% (C) 21% (D) 15%

59. The length of a rectangle is twice its breadth. If its perimeter is 150 m, find the length of
the rectangle
(A) 25m (B) 75m
(C) 50m (D) none of the above

60. The length of a train is 110 m and its speed is 36 km./hr. Find the time taken by the
train to pass 70 m long platform

(A) 15 Second (B) 10 Second (C) 20 Second (D) 18 Second

61. If Sin @ = 3/5 then find the value of Cos @ =
(A) 4/5 (B) 2/5
(© 15 (D) None of the above

62. Areaofasquare is equal to the area of rectangle. If the length of rectangle is 16 m and
breadth is 9 m, find perimeter of the square

(A) 48m (B) 36m (C) 40m (D) 30m

63. Find the greatest four digit number which is divisible by 4, 5, 6, 7 and 9 -

(A) 9980 (B) 6850 (C) 8820 (D) 7420
64. Two successive discounts of 20% followed by 10% is equivalent to a single discount
of
(A) 18% (B) 25% (C) 28% (D) 32%
* -20-
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56.

S7.

58.

59.

60.

61.

62.

63.

64.

T
Yol SIS T ki THehTed fS18@ 245 37 1029 i 9T 34 T 3N AT 54 |

(A) 15 (B) 16 ) 9 (D) 5

It fopeft T =t 10 faeTd sreret Ot 10 wiaTa wret e sime dt awen | foha wlaera gieg
a7 RHT B 7

(A) 1%3fg (B) 1% whHt (C) 10%dfg (D) RIS ufted et

I fereft ot Y Tedeh SIST 10 WcwTd srgt &t SITe at &het § foha wferd it gfe gt ?
(A) 10 s (B) 20 s (C) 21 gfderd (D) 15 gfderd

e forelt ST <l TaTs, <iTeTs <Al it &1 U ST <h et 150 #1. €1 1 ST ohl TaiTg
Frepret |

(A) 25 (8) 75 H. (C) 50 . (D) 12T
LTS ot oTaTTs 110 Y. © 3T 36kl et 36 foh H1. /821 @ | 70 Tl el Wi % ohl IR ohid
T foraT g9g < ?

(A) 15 THUE (B) 10 THUE (C) 20 TFTS (D) 18 TFHTS

Ife Sine=3/5 B dl Cos O 1AM Id™
(A) 4/5 (B) 2/5 C) 15 (D) TTH B HIE &l

ek 71 T &IThed Ueh AT o &%l o SIeR & | Afg AT bt ovaTs 16 Y. TR =g o 1.
2 1 ot o i fehred |

(A) 48T, (B) 36l (C) 404l (D) 304l

TR 3Tkl <l Hol TS T 9/ Sl 4, 5, 6, 7 31 9 T fowfsia = |
(A) 9980 (B) 6850 (C) 8820 (D) 7420

I HATTA el 20 Tfaerd 3T 10 TfowTd o THH Th el R 2 7
(A) 18 s (B) 25 s (C) 28 gfaerd (D) 32 gferd
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65.

66.

67.

68.

69.

70.

71.

12.

73.

COMPUTER

The binary system is a number system to the base

A) 2 (B) 10 (C) 4 (D) 8

To be able to ‘boot’ the computer must have
(A) A compiler (B) An operating system
(C) An assembler (D) A loader

What type of keys are ‘ctrl’ and ‘shift’ ?

(A) alphanumeric (B) adjustment (C) function (D) modifier

Excel would evaluate the formula, = 20*10/4 and provide the answer

(A) 6.25 (B) 236 (C) 40 (D) 50

Which of the following is used to connect to the location of the internet resources ?

(A) Protocol (B) URL (C) Linkers (D) Cable

The user working on the system is called

(A) Liveware (B) Hardware (C) Software (D) Firmware

The Internet is the , Whereas the Web is the
(A) collection of servers; network connection

(B) physical resource; URLs

(C) network of hardware; internet information resource

(D) information resource; internet connection

Which keys enable the input of numbers quickly ?

(A) ctrl,shiftandalt (B) arrowkeys (C) functionkeys (D) numeric keypad

RAM stands for

(A) Random Access Memory (B) Read Access Memory

(C©) Random Available Memory (D) None of the above
22.
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HITUTh

T ToeeH o1 SR R R 7

(A) 2 (B) 10 (C) 4 (D) 8

FFHI S o [TC HeEH B o foTg s sl & 7

(A) T HehoTsh (B) T HTRT foreen

(C) Uk hISiath (D) TH Al

‘T IR ‘Feaa’ forg YRR A el & 7

(A) ST (B) THISH (C) wRH (D) TIfEHER

THIS G H BT = 20+10/4 T IW 2

(A) 6.25 (B) 236 (C) 40 (D) 50

99 W I 9T GETEH] o TAH 8 hdde hid o foIg T foram siran e ?

(A) iR (B) IIRTHA (C) fomrdd (D) heid

ST JUTTeAT T ShTH shid aTet ohl 9T Shel ST & ¢

(A) TATSIAT (B) TTEAW (C) HTiHaR (D) HRR

3L 2 Saifes 9« H

(A) T FI GUE, A2 HaRT (B) itfcieh THTE, JHANTA

72.

73.

(C) TS A Feaeh, 3eE THHRI HEEH (D) YT THIYH, ST oo

i Tt SR & T 1 ge Iy grar e ?

(A) eI, TEATd R AT (B) R Fsit

(C) HHRMFHS (D) HEATHF Hiie
RAM &R ?

(A) Teu THE HaRl (B) e TaH AuH
(C) TeH wadtslal BAilt (D) T @ &hIg +ft &N

23
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CURRENT AFFAIRS/GK

74. Which is the largest man-made lake ?
(A) Rana Pratap Sagar (B) Govind Sagar
(C) Wullar Lake (D) Lake Baikal

75. Tilaiya, Maithon, Panchet and Konar dams are built on the river
(A) Chambal (B) Betwa (C) Mahanadi (D) Damodar

76. Headquarters of UNO are situated at
(A) New York, USA (B) Hague (Netherlands)
(C) Geneva (D) Paris

77. The book ‘Fault Lines’ is written by
(A) Raghuram Rajan (B) D. Subha Rao
(C) Vimal Jalan (D) Montek Singh Ahluwalia

78. Till March 2013, Finance Minister P. Chidambaram had presented
(A) 6 budgets (B) 7 budgets (C) 8 budgets (D) 9 budgets

79. Who has been appointed new Governor of Reserve Bank of India ?
(A) Montek Singh Ahluwalia (B) Deepak Prakash
(C) Raghuram Rajan (D) Ashok Gulati

80. Lok Sabha passed the National Food Security Bill, 2013 on
(A) August 22,2013 (B) August 23, 2013
(C) August 26, 2013 (D) August 27, 2013

81. Who was the first women Prime Minister in the world ?
(A) Indira Gandhi (B) Benazir Bhutto

(C) Margaret Thacher (D) Sirimavo Bandarnaike

82. Who composed the National Anthem of India ?

(A) Rabindranath Tagore (B) Bankim Chandra Chatterjee
(C) Sarojini Naidu (D) Md. Igbal
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74.

75.

76.

7.

78.

79.

80.

81.

82.

AT 7

ol 9t g Rffa s m a e ?

(A) TMYAMAR  (B) ME=EMW  (C) FeoR A (D) a3
faetan, Req, d=id SRR et o fohd e AR T e ?

(A) == (B) e (C) WeMat (D) <M
G TS o AT shel fera 2 7

(A) = ATh, 7 .TE.T, (B) = (Fexte)

(C) SHaT (D) Ui

“Bice Asa T fo@n 2 7

(A) THTSH (B) SI. gsa1Ud

(C) Tomet StetH (D) Hieh e TeqaTtern
HTe 2013 o ferawst . g 7 ford srte weqa fora & 7

(A) B: 8 (B) dTd&Ie (C) ABTNE (D) Tase
fiord S AT e TaR w2 7

(A) Wi e TEqaTtern (B) <ideh TehTST

(C) TW TS (D) 3T AT
ARG = TS @rer e fagres 2013 et ied fomam ?

(A) 3TTE 22, 2013 (B) TR 23, 2013
(C) 3T 26, 2013 (D) 3T 27, 2013
Torva < vl wigen SumEs o off 7

(A) SR (B) Sfygee

(C) HTiE =R (ORI IEIESCIRES
IR ot Teerfia fohee T 7

(A)  Uersme TR (B) difehH =5 wresit
(C) wfSHIRIg (D) T T
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83.

84.

85.

86.

87.

88.

89.

90.

91.

HISTORY

Who was known as ‘Lakh Baksh” ?

(A) Aibak (B) Babar (C) llitutmish (D) Raziya
Battle of Chausa was fought between

(A) Babur and Sher Shah (B) Sangram Singh and Sher Shah
(C) Humanyun and Sher Shah (D) Akbar and Sher Shah

The Jama Mas;jid at Delhi was constructed by

(A) Akbar (B) Jahangir (C) Aurangzeb (D) Shah Jahan

Which war established British supremacy over Bengal ?
(A) Plassey (B) Wandiwash
(C) Buxar (D) Third Battle of Panipat

Who among the following is responsible for the introduction of Railways in India ?
(A) Lord Curzon (B) Lord Dalhousie
(C) Lord Canning (D) Lord Ripon

When did the Indian Constitution come into force?

(A) 26 November, 1949 (B) 24 January, 1950

(C) 26 November 1950 (D) 26 January, 1950
Immediate cause of the Revolt of 1857 was?

(A) Ring Fence Policy (B) Doctrine of Lapse

(C) Greased Cartridges (D) Propagation of Christianity
When did the first battle of Panipat take place?

(A) 1509 (B) 1526 (C) 1556 (D) 1761

Which script is found in most of Asokan inscriptions ?
(A) Brahmi (B) Kharosthi (C) Devanagiri (D) Greek
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L
@ R Shi 3T foRd godr i R ?
(A) U (B) SR (C) SogdiH (D) 3w
<1 o1 5, fomioh off= gt ?
(A) STeR 3R IEIME (B) Tum f&g SR IR
(C) T IR (D) 3Tehart TR IR
Tt @ s wfeste foraes gra fmtor s man ?
(A) 3TF (B) SRR (C) N~ ORRUESH
frfciRaa o @ ford 9@ ® STeT # 37U o1 Sateadl SgH i 7
(A) I (B) difeard (C) TR (D) A FRIFAT IS
THA § {ctd o1 TRET i T 51 STl @
(A) TS o i (B) TS STTerSi b
(C) e hfmant (D) e f
CIGIPESIERIECE RS U RERIRIE
(A) 26 T 1949 (B) 24 SHerl, 1950
(C) 26 Fa 1950 (D) 26 S, 1950

89.

90.

91.

1857 o fI=Ig &1 dlcehTicTeh h1TuT RIT 9T 7

(A) =i (B) =IWTA 1 T

(C) =il aTet SHRqH (D) THETE G oh1 TEIR

qTHTd 31 Yo g, ford o gt ?

(A) 1509 (B) 1526 (C) 1556 (D) 1761
TYTE AN & Afehdt Rraeid fore fafu o fer@ @ 8 7

(A) St (B) TS (C) TRl (D) I
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BIHAR (CULTURE)

92. The Ancient University of Nalanda was built during
(A) Maurya Dynasty (B) Gupta Dynasty
(C) Kushan Dynasty (D) Pala Dynasty

93. Which river is called ‘Sorrow of Bihar’ ?

(A) Kosi (B) Sone (C) Phalgu (D) Damodar

94. Which of the following was written by Ramdhari Singh Dinkar ?
(A) Rashmirathi (B) Jhanshi Ki Rani
(C) Madhushala (D) Arjun Ki Pratignya

95. Who was Phanishwarnath Renu?
(A) Mathematician (B) Poet

(C) Astronomer (D) None of the above
96. Which of the following is the birth place of Gautam Buddha ?

(A) Vaishali (B) Bodh Gaya (C) Rajgir (D) Lumbini
97. Who among the following was not a ruler of Magadha ?

(A) Shishunaga (B) Dhanananda (C) Bindusara (D) Kanishka
98. Didarganj Yakhsini belongs to period.

(A) Gupta (B) Kushana (C) Maurya (D) Shaka

99. Who was conferred the title of ‘Desh Ratna’ ?
(A) Jaiprakash Narain (B) Dr. Rajendra Prasad
(C) Lal Bahadur Shashtri (D) Jagajivan Ram

100. Which Sikh Guru was born in Patna ?
(A) Guru Gobind Singh (B) Guru Angad
(C) Guru Tegh Bahadur (D) Guru Nanak
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feem (weptr)
92. TeTaT o1 YT forva feremer fore a1 o SR ST T o
(A) TrEaw (B) T A (C) FIMUIE (D) UTAS
93. forg 7l &l ToeR# 3@ FETM@IR 7
(A) FE (B) @ (©) (D) M
94. T8 4 &M YR e e g a2 7
(A) Uoweht (B) TEIAITH  (C) HeMa (D) 3T T wfera
95. HUfTTaATY W I o 7
(A) TR (B) Hf
(C) wafafdg (D) T A I ot T
96. TIH TG 1 S el §3TT T 7
(A) et (B) e (©) TR (D) et
97. TTH T M FTH 1 ST el o1 7
(A) TR (B) *H (C) fergEm (D) i
98. derTS! AfEvft fore A A1 2 7
(W) T (B) Fm (©) =d (D) ¥
99. 31 TcA ol JUTHY ford & =AY off ?
(A) ST TR TR0 (B) Ef. Teis 991G
(C) e STETgL RS (D) SFTS{iaA T

100. Tore i@ 7% 1 S0 9o § gaTT o1 ¢

(A) &< iR (B) & 3TTE (C) & ATERIGL (D) T&AMH
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SPACE FOR ROUGH WORK
& &1 o foTu T
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5. (a) Thecircles, as described in 4 above, are to be darkened by using Blue/Black ball point pen only.

() ITT FHH 4 | T T TR M hl HieAt /Tl STl WIEe herd §R & THT 2 |
(b) The shading should be dark and should completely fill the circle.
(W) T ol YUIET T 1 TS TT EHT =0T |
(c) Only one circle corresponding to the correct answer should be darkened as shown below :

(1) T 3T A T helel Ueh € Tl <kl W ST =1eC < = fewmn man @ -

Correct / &8t AGOD
Incorrect /T A @ @ © or@®©@0r@@/©@0f@®©@
Incorrect/T A @ DO oc AP O D o D @ @ D Of@’ﬂ@

(d) If more than one circle is darkened usingBlue/Black ball point pen or if the response is marked in
any other manner or as shown in “Incorrect method” above, it shall be treated as wrong way of
marking.

(1) afe uh & 3rferss Mol 1 At /et STt WIEe o™ 8 T ST A7 I [t 317 TR & A9aT I
e T Tt deRt @ gad TR SR @Y 39 TTeAd RO T SR |

6. Rough work must not be done on the OMR Answer Sheet. Free space provided in the question booklet
should only be used for this purpose.
ToReft SeRTX <1 Sheell ShTH T Ueh WX T T | 30 Wie Yieent | 36eh Tore @reft T sig foon mn 2, 3&ht
T FHodl HE R

7. ‘“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the
candidature will be rejected.
I TF WY TR A W Rt qte w1 e onfe 7 s = 58 foret ate 7 faspa R ot 7 fosha 79 3
1= witeqelf <t Sefieard T8 ot < SR |

8. Candidate must not leave any mark of identification on any part of the Answer Sheet except as asked on
the OMR Answer Sheet as this may lead to disqualification.

IHIGIR 1 37.TH.3TR. (OMR) T fEsht § 8 T & TATaT I Gierart o foreft st R ugere o foreft oft
T =l 72 Bie =1y, 39 9% S B Weha € |

9. For verification of your handwriting, it is necessary to write the prescribed Text completely, which is
printed in Hindi on the OMR Sheet and also put your signature on specified space in Hindi and English
otherwise your answer sheet / candidature will be rejected.
ot foramae & weam & fou, fuffa ue 58 . w.am. v & & 8 gfsa foran mon 2, 3@ qu o
ITTarwe § 3 ffdee Tom w fedt o o1t | o7u eaer oft Y, st=ren STeht S gftent /IrieaTdt sreishd
T 31 St |

10. Incase you do not follow the instructions as given on the backside of OMR answer sheet, your answer
sheet is liable to be rejected for which you yourself will be fully responsible.

I U 371.TH. TR, o I T o I8 9T § 53 T fadsmi ot urers =1t fehan ot 31mueht 3w umieh 18 e s
ke 2 foraes foT 31y T qul ®9 @ Iawerd g |
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